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Iimportant Results
1. Poduct of Trigonometric Ratio
1
(i) sinBsin(60° —0)sin(60°+0)= 7 sin 30
1
(i) cos8 cos(60°—0) cos(60°+8)= -4~ cos 30

(iii) tan® tan(60°—6)tan(60°+ 6)=tan 38

(iv) cos36°cos72°=—

; .
(v) cosAcos24cos4A...cos2" A= = sin(2"A)

sin A
2. Sum of Trigonometric Ratios

’ (i) sin A+sin(A+ B) +sin(A+ 2B) +...+sin(A+ nB)
sin{A+(n—1)§}sin"—B

2 2
= —
sin—
(ii) cosA+ cos(A+B)+ co.s(,:;- 28) +...+ cos(A+nB) "‘ O ‘u\(
= iz 2 cos {A + } a\ =~
sinB NO‘GS

3.A,BandCare Angles of a Tﬂa“ Om

A\
(i) (@)sin(B+C)= l O"
‘ﬂg P age )

(ii) sin 2A + sin 2B +sin 2C =4sin AsinBsinC
(i) cos2A+ cos 2B + cos 2C =—1-4cosAcosBcosC

(iv) sinA+sinB+sinC=4 cosg cosg cosE

(v) cosA+ cosB+ cosC =1+ 4singsin%sin%

{vi) tanA+ tanB + tanC =tanAtan8 tanC
(vii) cotB cotC + cotC cotA + cotAcotB=1

(viii) cot -4 + cot B + cotS =cot ﬂ cotg cotE
2 2 2 20 2 2

{ix) tanétan-B-+tangtan£+tan£tané=l
2 2 2 2 2 2

4. Trigonometric Equations
(i) sinnt=0and cosnm =(-1)"

dma
(i) sin@=sinac =08=nr+(-0"a,nel d many more)

(m) cosB=cosa=0=2nmta,nel ‘
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